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GRAMMAR 

1 Underline the correct form. 

Example: We usually get up / get up usually early every morning. 

1 Jake is taking / takes vitamins every day. 

2 Clare buys a lot of takeaways, but I prefer / I’m preferring home-made food. 

3 Do you watch / Are you watching the football match tomorrow night? 

4 I don’t usually have / I’m not usually having dessert, but I’ll have one tonight. 
5 Helen doesn’t work / isn’t working tomorrow, so we’re meeting for lunch. 
6 In the summer, we often cycle / we’re often cycling to work. 

 

2 Complete the sentences with shall / going to / will or the present continuous. 

Example: I’m sure that Jess will help (help) you with your work. 

1 A I ________ (go) into town this afternoon. ________ (I / go) to the supermarket on my way 

back? 

 B Yes, we need bread, milk and some fruit. 

 A OK. I ________ (get) all that, and some eggs, too. 

2 A I heard on the radio that the weather ________ (be) excellent this weekend. 

 B That’s good, because my parents ________ (come) to stay with me. 
3 A I went to see Cloud Atlas yesterday at the cinema. It’s excellent. 
 B Oh good. I ________ (see) it tomorrow. 

 A I think you ________ (love) it. 
 

3 Complete the sentences. Use the correct form of the verb in brackets. 

Example: We’re meeting (meet) Bob outside the cinema at 7.30. 

1 Paolo ________ (buy) a new car next week. 

2 I ________ (need) a lot of sleep at the moment so I can concentrate on my exams. 



3 We hardly ever ________ (eat) together as a family. 

4 Hi, Beth. Sorry, I can’t talk right now. I ________ (drive). 
5 You look very serious! What ________ (think) about? 

6 I know that Carlos ________ (hate) me! He never says anything nice to me. 

7 I ________ (have) dinner with my younger brother at 8.00 tonight. 
 

 

4 Complete the sentences with the correct word. 

Example: Jim’s really shy. He hates meeting new people. 

shy   sensitive   extroverted 

1 Sergio is so ________ for his age! He seems much older than 14. 

 competitive   sensitive   mature 

2 Vicky can seem like a different person on different days – she’s very ________. 
 sensible   moody   mean 

3 You should think about how other people feel instead of being so ________! 

 spoilt   independent   selfish 

4 In sport, boys are often more ________ than girls. They always want to win. 

 bossy   competitive   reliable 

5 Natalia was very ________ tonight. Do you think she’s OK? 
 extroverted   confident   quiet 

6 She’s just ________ because you got a higher score than her in the test yesterday. 
 ambitious   spoilt   jealous 

7 Juan is always trying to pay for everything. He’s very ________. 

 generous   honest   sensitive 
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The film was directed/ written by … 

It is based on the true story. 

It stars … 

It is set in … 

It was filmed in … 

The film is about … 

In the end … 

I strongly recommend the film because … 
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Our facial expression is usually the first indicator of our state of mind. When we’re 
happy, we smile. And when we’re sad or angry, we frown. There are times, however, when we 
don’t want people to know what we’re really thinking or feeling, or when we’re trying to hide 
something. In these situations, we choose our words carefully, and we consciously make our 
facial expression mirror what we’re saying. 

However, up to 90 per cent of communication is non-verbal. So we might say one thing, 
but our body language often tells a different story. Body language refers to the pattern of gestures 
that express our inner thoughts and feelings in communication. 

Unless we are very clever, our bodies will usually try to tell the truth, no matter what our 
words and facial expressions are communicating. Here are three of the most common ways that 
our bodies can give us away: 

1) Touching our faces more often than usual. If we are lying, we often cover our 
mouth with our hand or put a finger on our lip. Part of us knows that what we are saying is not 
true, and tries to stop it coming out. Touching our ear or hair and, most commonly, our nose are 
signs that we might be feeling anxious, or that we are angry or frightened but don’t feel able to 
express it. 



2) Gesturing with our hands. Experiments have shown that we use our hands to talk 
with much less than usual when what we are saying is not true. We don’t know exactly what our 
hands are saying, but we know they are probably communicating something important so we try 
not to use them. A person who says he or she is very pleased with something, and they have their 
arms folded while they are speaking, may actually be feeling quite the opposite. 

3) Moving our legs and feet. These are the most revealing parts of our body as they 
are the furthest from our face and we don’t usually pay attention to what they are doing. An 
interviewer might be listening patiently, smiling, and nodding, but if he’s tapping his foot, this 
could tell us that he is not enjoying the interview at all. 

Most of us don’t know exactly what someone else’s body language means. But if we feel 
uneasy in someone’s company, it may be because their words and their body are saying different 
things from each other. This difference can have a significant effect on how we get on with that 
person. 

1 We change the expression on our faces when we want people to believe _______. 

 A what we’re really thinking    B that we’re lying    C what we’re saying 

2 Our body language shows _______. 

 A what we want people to think B what we’re really thinking   C that we always tell the truth 

3 People who aren’t being honest often _______. 
 A touch their faces more frequently    B try to stop talking    C touch their hair  

 

4 People who are afraid tend to _______. 

 A cover their mouths   B touch their noses      C touch their hands   

5 It’s common to _______ if we aren’t telling the truth. 
 A use our hands more      B use our hands less      C look at our hands   

6 To decide if someone is telling the truth, looking at their hands is _______ listening to what they 

say. 

 A a better indication than    B just as effective as      C not as effective as  
 

7 When it comes to watching body language, legs and feet _______. 

 A  are not as interesting as faces      B are the most revealing      C  aren’t worth looking at   
 

8 If an interviewer’s foot is moving, he’s probably _______. 
 A listening very carefully      B not enjoying the interview     C not paying attention  
 

9 _______ can interpret a person’s body language accurately. 
 A Few people      B Nobody     C Most people  
 

10 If a person’s words and body language don’t match, we can feel _______. 
 A at ease      B relaxed      C uncomfortable   

 


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